LINDSTRAND BALLOONSLTD

SERVICE BULLETIN NO. 2

ISSUE 1- DATED 14.03.96.

Title: CLOUDHOPPER BEARING REPLACEMENT

Classfication Recommended

Applicability: All LBL Cloudhopper Bdloons

Serial Numbers Affectedt 061, 080, 085, 130, 159, 160, 161, 162,170, 187, 260,
292, 352, 363

Compliance Standard: Inspect prior to next flight

Background: It has been found that if the Cloudhopper main burner

assembly is habitualy left unattended in the flying pogtion,
then it is possible that when the cylinder fuel contents are
low, the complete base unit can fal forward and Strike the
ground. Thefirgt point of contact is normaly the main
rotating load frame. Sharp contact forces have been found
to cause a breakdown of the front horizonta locator
bearing.
A modification kit has been compiled which substitutes
two of the location bearings for machined bushes, which
have adequate res stance to the shock loads.

Accomplishment Ingructions:

a. Ingpection

Rotate the main load frame and check for free running. Slight Stiffnessin locdised aressis
acceptable. Hold the load frame adjacent to the front horizontal bearing. Push and pull the load
frame towards the front bearing. There should not be more than 1 mm (1/25") of

movement. Repest this process for the remaining horizontal bearings. Rotate each bearing by
hand and check that the rotation is smooth. If the bearings are in good condition, no further
actionis necessary. |If excessive movemert in the load ring frame, or if any of the bearings have
failed, the procedure given below should be undertaken.

LBLSB2 Page 1 of 7



LBLSB2 Page 2 of 7



3.

Bearing Replacement

Ensure that all the components are present in the replacement kit PPN BA300237,
asidentified on the contents sheet, and that the necessary tools are available.

Erect the burner assembly onto the Cloudhopper back pack in the normal manner.
Use two cylinder straps to fasten the complete base unit to awork bench.

Unscrew the three vertica boltswhich hold the existing horizontal bearingsin - place

and remove the complete load ring and three bearings.

4.

10.

11.

12.

Unscrew the three off M8 socked lead cap screws. These screws are locked in
place with Loctite 242e and require considerable leverage in order to break the
bond. Remove bearings, washers and balts.

Retain dl old components for return to Lindstrand Balloons Limited.

Sdlect the three M8 replacement bearings (1), the M8 washers (3) and M8 bolts
(2) from the replacement kit. Assemble components as shown in Figure SB2-002.
Place asmdl drop of the Loctite 242e on the end of the thread.

Screw the complete assembly into the threaded hole in the end of each arm of the
main block. Tighten the bolt to a torque setting of 8 Nm (5.9 Ibf.ft). Repest this
process for dl three vertical bearings.

Sdect the one horizontal locator bush (7) which hasacut out in the largest diameter.
Assemble with the M6 x 55 bolt (10), and M6 washer (5) and an M6 aerotite nut (8) in
the front bearing location, as shown in Figure SB2-002. Tighten the nut securely.

Ass=mble the remaining horizonta locator bush (7) in the same manner, using the
M6 x 45 mm bolt (9) and tighten into the position shown in Figure SB2-003.

Place the load framering so that it is Stting on dl three vertical bearings, as shownin
SB2-003.

Assamble the remaining 6 mm interna diameter horizonta bearing (4) with an M6
washer (5) on both sdeswith the last M6 x 45 length bolt (9) and the 32 mm diameter
washer (6) on the lower Sde, as shown in SB2-004. Tighten the M6 nut securely.

Rotate the load frame ring to ensure that it moves fredy. Note thet alittle
resstance to rotation is acceptable.

Cdl LBL if any difficulties are encountered.

LBLSB2 Page 3 of 7



‘ONINNNY HLOOWS o404 MO3IHO
OL ONI4V38 3HL 31V1i0Y ANV
ONIgv3E JHL NO d39NI4 30v1d

‘NOILO34SNI ONIdVIE 43d4d0HANOTO 100—28S 914

‘SONIEVIE TYLINOZIYOH TV
404 LV3Id3d 'NMOHS SNOILO3HIa JHL
NI ONIIV3IE TVINOZIYOH WOYd AVMY
ANV SAYYMOL ONIY JNVHS dvOT JAON

ONIGV3E dOLVOOT TVYLNOZIHOH

SONIIVId NIV TVOILA3A

SINIOd LN3WHOVLLY 3d0OT13IANT

ONId JAVH4 AvOoT

ATAWISSY J3INING NIVIN

Page 4 of 7

LBLSB2



LSIT SIN3LNOO 3HL NI SY3IFWNN W3L1 3HL
Ol ¥3434 S13MOVyd NI SY3GNNN JHL LVHL 3JLON

ATINISSY ONI¥V3E LNOY4 ¢00—2d8S 9ld

(8) LNN 9N

() Y3IHSYM 9N

(/) HSNg ¥OLVDOT

[ 1

™~ 2227775

ONIY dNVd4 avOol

(01) 1709 9NOT GGX9N

(1) ONI¥VIG TVOILYIA SN (2) 1709 9NO1 0ZX8W

(¢) d3IHSYM 8N

Page 5 of 7

LBLSB2



S3IHSNE JOLVOOT 40 LNIWIONVHHEY ¢£00-249S 9l

HSNG JOLVOOTT ov3d

(9

HSNE JOLVOOT INOA4

NOILISOd ONIY

NOILYOOT

ONId dNvd4 avOl

Page 6 of 7

LBLSB2



LSIT SIN3ENOD 3IHL NI SHIGWNN WALl FHL
OL 43439 SI3XMOVHE NI SY3IGWNN JHL LVHL 310N

ATENISSY ONIGV3E TVLINOZIMOH +00-24S 914

(8) LNN 9N

(9) YIHSYM F98VT 9N

(¥) ONI¥vY3IF 9N

(6) 1109 9NOT GFxaN

(G) SHIHSYM 9N

Page 7 of 7

LBLSB2



LBLSB2 Page 8 of 7



DRG No
BA-300—-A-237

THIRD ANGLE PROJECTION
ALL DIMENSIONS ARE mm.

3.

11 [BU2253 & | M8 WASHERS ©D 12mm 1.0mm THICK
10 [BU2253 1 |MEx58mrn LONG SKT HEAD CAP BOLT
9 (Ruz238 2 |M&x45mm LONG SKT HEAD CAP BOLT
8 |Buzz1n 3 |M6& AEROTITE NUT
7 |BA300236 2 |HORIZONTAL LOCATOR BUSH
6 [cH10a57 1 |LARGE M6 RETAINING WASHER 0D 32mm, 2.0 THICK
S [Au2211 7 | MB WASHER 0D 12.5mm, 0.Bmm THICK
4 |CcH10006 1 |HORIZONTAL BEARING 0D 19mm, ID 6mm, 10 THICK
3 |Bu208e 3 |MB WASHERS OD 16.6mm 1.0mm THICK
2 |GH100456 3 | M8x20mm SCCKET HEAD CAP SCREW
1 |cH10007 3 |VERTICAL BEARING QD 24mm, ID_8mm 10 THICK
ITEM PART No g_-':- DESCRIPTIEN
TOOLS REQUIED. —

1.) ONE &mm ALLEN KEY (SOCKET WRENCH)
Z} ONE 10mm SPANNER (WRENCH)

ONE 6mm ALLEN KEY WITH LONG HANDLE TO
ASSIST IN BREAKING THE LOCTITE BONDING
4.) LOCTITE 242e (LOCTITE 243 IN USA)

DESIGN /SPECIFICATION REVISION
ISSUE [DRAWN |CHECKED [APPRAVED | DATE REASON FOR CHANGE
1 3 3B aF 14/3/08 NEW
B
MATERAL |
1
" GIMON |
"™ CAD FILE & FULL
— )
BEARING I
REPLACEMENT :
KIT CONTENTS '

ORG No

BA-300—-A—-237

)
SHEET 1 oF 1

LBLSB2

Page 9 of 7



Addendum to Lindstrand Balloons Service Bulletin No 2

General

Cloudhopper Bearing Replacement.

Service Bulletin No 2 lists the affected parts by balloon serial number. It is likely that in the years since the
bulletin was first issued the burner units have become separated from the envelopes. This addendum adds a
list of burner serial numbers to the balloon serial numbers. The content of the bulletin is unchanged.

List of Serial Numbers Affected

Ballon Burner
Serial No Serial No
061 BUOS0
080 BUO52
085 BUOS3
130 BU094
159 BU131
160 BU128
161 BU129
162 BU130
170 BU143
187 BU153
260 BU177
292 BU178
352 BU252
363 BU263
Approval
Compiled by:

Approved by:

LBLSB2

Addendum ISSUE 1

D Boxall

B Bower

Page 1of1



